Quiz 16 MATH-1100-ES32 2011 November 14

Simplify the following expressions.

V36 + 64

First add 36 + 64 to get 100; then since 100 = 102 (and 10 > 0), v/100 = 10. In summary,
v36 4+ 64 = +/100 = 10.

(22 + 3)*

Notice that (22 + 3)> = (—2z — 3)>. The answer might be either 2z + 3 or —2z — 3, depending on which
is positive (or at least not negative). We can't know this without knowing something about what « is, but
we do know that the answer is the absolute value:

(22 +3)% = |22 + 3.

s/ 1
32
Since (1/2)° =1/2° = 1/32,
/1 _ 1
32 2

(_27)1/3

First, (—27)"® = ¢/=27. Next, —27 = —3% = (—3)*, so /=27 = —3. (It doesn't matter that —3 < 0, since
the index 3 is odd.) In summary,
(—27)"/3 = Y=27 = —3.
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